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32 WeEPEE 9p? +4g°+12pgq  a’+b’+2ab TRITYT. (a’= 9p? , b*= 4q® , 2ab=12pq)

9p = 3p*3p =(3p)*
4q* = 2g*29= (20)°
12pg = 2*3p*2q
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= (6x-5) &J) (6x-5).
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=6x(6X-5)-5(6x-5) (B¢ mwm@l S R0.)

=36x°-30x -30x+25 (Foeamon)

= 36x°-60x +25 (338 weaﬁmeg)




2.8.1 xmﬁés : BRT FeWeTTED QYUVTOIRENY WTJSFR: (x+2)*+18(x+2) +81.

DOT/OT:
32 WeEREIOIN a’+2ab+b? TRIJTYT. a’= (x+2)?, b?= 81=9 ,2ab = 2(x+2)*9 =18(x+2)

a’+b%+2ab 3T TR SFIND: (a+b) m:»g (a+b) {AQ (a=x+2),b=9)}
LT asez%.@egods ODRSEIN: (X+2+9) (X+2+9)
=(x+11) m@g (x+11)
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533 a‘beﬁm%oﬁw a’-b? TRTTYTVRHTWO0T, VTT WTRBFINGY: (a+b) m:%o (a-b).

%2@ (a=—) b=—)}
£ T8 2edResod WTWSEINL0: (—+ ) BT (———)

_ P 9\ P 4
R R,

4 () @ee mamRy, or3r0.)

%—( )2 @oBeaTom.)

S (533 asezé\rae%)
16 64
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O0TOT::
830 18 QRWTBR TREIF BNF NTY.
STT 8 =2*4 , 18 =2*9.

4=2° 9=37
8(X+%)2—18(x—%)2 = 2{4(x+%)2—9(x—%)2}.

0 4(x+§)2-9(x-§)2 QW a*-b? BRTTYT.

a’= 4(x+1)? ={2(x+ )}

b*={3(x- )}

0 a:2(x+%) , b:3(x-§)

2RO a’-b” CRTTYTVRPTOOT, VTBSFIN: (a+b) , (a-b)

1. T8 edRedod wTTIEINGL: {2(x+§) + 3(x-§)} B {2(x+§) - 3(x—§)}
QY 2 FOWIVT, VTWRIE .

1. T8 WeReON WTIBFRAW:2 {2(x+) + 3(x- )}, £20¢+3) - 3(x-1)}

S BOCHT)18(x- )P =2 {20+ 1) + 30 P20+ 1) - 3(x-1)}
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X° -y? = (x+y)*(x—y) {a’-b”®=(a+b)*(a-b)}
=(x+y)* 8 (- x-y =8)
" 400 = 8(x+y) (-~ X% -y® =400)
(8 D0T Z7oNA)
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2.8.2 BRI @wMegn@ msae)&gp:
(x+a)*(x+b) = x*+x(a+b)+ab - MENSe JRCRT 6.
8 TPTY @ﬁd@@iﬁ%ﬂo: (x+a)*(x+b)*(x+c) O msaem@ SRCT0.

(x+a)*(x+b)*(x+c)= {(x+a)*(x+b)}*(x+c)= {x*+x(a+b)+ab}*(x+c)
= x*(x+c)+x(a+b)*(x+c) + ab(x+c) ({x°+x(a+b)+ab} T T&¢C mwm& (x+c)0 Té¢

DRTRODN ™MBRT.)

= x>+ x°c + x(a+b)*x+x(a+b)*c + abx+abc ( x(a+b) T FT,&¢ 5655&’)3& (x+c)O

TECTTBRODN MR .)
= x3+ x%c + x?(a+b)+x(a+b)*c + abx+abc (&%@%mﬁ.)
= x3+ x?(c+a+b)+xac+xbc + abx+abc (@ﬁ@%,ﬁb@@@%@%mﬁ.)
= x*+ x?(a+b+c)+x(ac+bc+ ab)+abc (RO CTOATION.)
X3+ x2(a+b+c) + x(ab+bc+ca) +abc (RVILHCF B, )

20eDT [WNEBTRTY b=a , c=a ToITIN

(x+a)(x+a)(x+a) = x°+ (a+a+a) x’+(a*a+a*a+a*a)x+a*a*a
= x°+ 3ax®+3a’x+ a°
= x>+ 3ax(x+a)+ a°

=31al xaiaol b 0200T 20TV A.
(a+b)® = b*+ 3ab(a+b)+ a°
‘b’ QDY (-b) 0335301 STICSHRTIT,
(a-b)® = a°+ 3a(-b)(a-b)+ (-b)>

= a*-3ab(a-b)-b*




2.8.2 533?35 1: 1.05*%0.97*.98 T 2363 BOT&HE.
DOT/OT:

1.05 = 1+0.05, 0.97 = 1-0.03 , 0.98 = 1-0.02.

£ x=1 30 a=0.05, b=-0.03 TN c= -0.02 SNTO

BSIBNY msaew(pam& (x+a) (x+b)(x+c) BRTTY W0TOINWTOT,

(x+a) (x+b)(x+c) = x>+ (a+b+c) x*+(ab+bc+ca)x+abc A")J@i Zﬁ@ﬁ%‘fabol STICSHTION

1.05*0.97*.98

= 1%+ (0.05-0.03-0.02)1? +((0.05)(-0.03)+(—0.03)(-0.02)+(-0.02)(0.05)) 1+ (0.05)(-0.03)(-0.02)
= 1+ 0*12+(-0.0015+0.0006-0.0010)*1+ 0.000030

= 1- 0.0019+0.00003 =0.998130

309:

@5&%23@%305 NVTOINRCN TOPRCR: 1.05*0.97*0.98 = 0.998130.
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B8 FIg 30D Mg, =(5x+2)(5x-1)(5x+3)F.F0.e0e.
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X=5X , a=2, b=-1, c=3 Q0T STIeAAToN

(x+a) (x+b) (x+c)= x*+ (a+b+c) x2+(ab+bc+ci)x+abc
= (5x)%*+ (2-1+8) (5x)*+(-2-3+6)(5x)+ 2*-1*8,
= 125x°+ 100x*+5x-6

S0%:
X7 200 8BS (=2) deRwe.
X =2 TN RPBTTOE,

125x°+ 100x°+5x- 6 = 125*8+100*4+5*2-6
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X =2 3TN

1.5X+2=5*2+2=12.

2.5x-1 =5*2-1=9

3.5x+3 =5*2+3= 13

FTIFB0D FIPO = T *LNRO*DT.
=12*9*13= 1404 F.X0.c0°C.




(x+a)(x+b)(x+c)= x>+ (a+b+c) x*+(ab+bc+ca)x+abc
1. (a+b+c) x* TY x* T ITJTWEIT (a+b+c)

2. (ab+bc+ca)x TY x T BT (ab+bc+ca) DOT MO,

2.8.2 xmﬁé 3: (3x-1)(3x-1)(3x+4)TY x* 3B x T ABMVEDTRR), TOTWIEROWO.

2OTT:

ms@em@@ (x+a) (x+b)(x+c) BRJTYT. (RPITZY x=3X , a=<1, b=-1, c=4)
Slafelele msaeagpwm& (x+a) (x+b) (x+c) BRZ LYVTCILLAFBLITITR.
(3x-1)(3x-1)(3x+4)

= (8x)*+(a+b+c)(3x)? + (ab+bc+ca)(8x)+abe (FRZTWY x=3x DOTN STESAT)

(a+b+c)(3x)* IY x* T IIMEOT (a+b+c)*9. ab ,c NY aﬁeﬁmfmol STICAHRTION, FBMEOT

(a+b+c)*9 = (-1-1+4)*9 = 18
(ab+bc+ca)(3x) 59 x D RBMEDT 3*(ab+bc+ca). a,b ,c NS 23@71%35301 STICHATON, ABMEDT

(ab+bc+ca)*3 = (1-4-4)*3 = -21

S0Y:

(3x-1)(3x-1)(3x+4) D, VIO AIJTOIFTATI), SOPRCR.
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(a+b)® = a®+ 3ab(a+b)+ b°®
- (a+b)® -3ab(a+b) = a®+ b3 @MOFONAT.)

Slelnie}
a’+ b3
=(a+b)? -3ab(a+b)

= (a+b){ (a+b)? -3ab}
= (a+b) { a® +b® +2ab -3ab}((a+b)’T), VFOATON.)

= (a+b) (a® +b? -ab)

‘b’ 2 TOON (—b)ODZ), eSTIedITION,

a’+ (-b)°= (a-b) (a°® +(-b)* -a*(-b))
= (a-b) (a® +b® +ab)
303, a®+ (-b)3= a-b®

. a’-b®= (a-b) (a® +b? +ab)




2.8.2 xmﬁé 3: OTWSFA: 0.027 p°+0.008 ¢°

DOT/OT:
0.3*0.3*0.3=0.027 , 0.2*0.2*0.2=0.008
o] Cg@dweio:ba a’+b’=(a+b) (a®+b*-ab) BRIT0ET.

a=0.3p , b= 0.2q

0.027 p3+0.008 g*

= (0.3p+0.2q) {(0.3p)? +(0.29)? -0.3p*0.2q}
= (0.3p+0.2q) (0.09p? +0.04g* -0.06pQq)

30%: (p BB qN¥ o BAN)

p=1, q=1, SN3O.

&N, (0.3p+0.2q) (0.09p? +0.04g® -0.06pq)
= 0.5*(0.09+0.04-0.06) = 0.5*0.07 =0.035

32 Weedped: 0.027 p°+0.008 ¢’
=0.027+0.008 =0.035
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HOTOT:
1
— =3 _, 1.3
125 =57, RN —(—ab)

a’-b® BRZTY a=5, b= =
e ab

a’-b’=(a-b) (a® +b* +ab) LVTCLENY, a TV b OB aﬁeﬁﬁ@m& eSTICSHTION,
1
125 -5
_ 1 2 12 x 1
= (5 _E) 5 +(£) +5 E)

= (5-L) @5 +—55 +2)
ab a’b® = ab

30%: (a DB b NNE 2,00 e3e31%)
a=1 ,b=2, SN\TO.

(5-1) (25 + = +5
ab a’b® = ab

:(5'%)(25““%*2) =124.875(F,OUSCWTR, GOTCIRENR).)

1
B eedee; 125 - 5= 125-%: 124.875 (F9,L0SCW0R, SVTO3RENA.)
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